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V Semester B.Com. Examination, October/November 2019
’ (Scheme : MSS-RS-13-14)

(Freshers of Nov./Dec.2015 & 2017)
BUSINESS TAXATION (Elective) (Paper-I)
Corporate Tax Planning and Introduction to GST & Service
Tax and Luxury Tax

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all Parts.
SR FRnNen YOI0A.

PART - A
W — &

Answer any two questions. Each question carries 20 marks. [2%20=40]
CRPTRTTL HTE TFNRYR «vBdr. TS TJ7H 20 ©osnk.

Q1) Ram and Shyam want to start a business. They have two options. Details are

as follows :

Fion Pvt. Ltd. Company
Capital - %20 lakh %10 lakh
Loan %10 lakh %20 lakh
Remuneration ¥4 lakh <4 lakh

The expected profit from the business is T9 lakh before salary and interest.
Interest on loan @ 12% p.a. is allowed. Rate of Income Tax @ 31.2% and
Dividend distribution Tax @ 20.55%. Equal partners.
Suggest the best alternative business from tax planning point of view, either
Firm or Pvt. company.
oo FBF I AR wITY FITT THoRRLL AT, wBOR
AT LORAYH. JTTN FINT0IS,
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Q2)

3638 DI wHN0Z IRTeD V0e33 ooy 9 ©F Cn. NV VT heds
2 12% AROCIPNG T300d BoR BT 31.2% HA) SgHOZ HITHO IOR
20.55% 3oR Oleemd TAONOE LOIE tsicﬁ%‘c:d::w:ﬂ1 SHRTED IOB R,

Apple Co. wants to acquire an asset.
Cost of the asset T 5,00,000.
Life of the asset : S years

Residual value : ¥ 50,000

Rate of depreciation : 20%

Addition depreciation for I year : 20%
Effective tax rate : 31.2%

The company has two alternatives :

a) Purchase out of own fund

b) Purchase by borrowing loan @ 10% interest p.a, where interest is paid
annually and the principal is paid at the end of 5* year.

- Suggest the best options from tax planning purpose.
P.V. factor % as follows
Year ®1 2 3 4 5
PVE @ 10% 0.909 0.826 0.751 0.683 0.621

¢ BOTVROIR %@&C@.@Od?&h 0eDRLWCIT.

sa0d B¢ : T5,00,000. ‘

833_:9&13 @R : 5 IRFNH

dﬁ’ac%: 350,000

X389 0 : 20% -

éai%ﬁ@ ARTY (SRBO eT’:E'i'F%) : 20%

307 BO w3 : 31.2%

FOTAN TR wodnos

D) 3O IPEWOT DOLETFHT.

2) Be. 10 8 0B TOBY WORPR DO, wPOLD, 3 Jurp
P VTR, 5 ¢ IS BeNok ToRSRTHTD.

3oR olRERTD WREWOT LUZTH 0L, CIPIBOTD OB Jed.
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oewF - 1 2 3
P.VF. @ 10% 0.909 0.826 0.751

4
0.683

M-8049

5
0.621

(?3) Havels Lid. is a widely held company préposes to increase its production for
which it will require X1 crore. The company proposes the following capital
structure to raise the additional capital :

Source of fond Plan1 Plan I Plan I1I
Equity capital Z1 Crore 50,00,000 | %40,00,000
10% Debenture - ¥50,00,000 | %30,00,000
12% Bank loan - - | %30,00,000

Return on capital employed before Tax : 25%

Advise the company to chose the best plan, if effective tax rate @ 31.2%,
Dhvidend tax @ 20.55%

Does it make any difference if the ROCE is 35%7?

OTTHOL, BT NEBR0T THS . FoTI0IW X1 drectd TeeTmd
wiNRBeds. B BP0 wOBIE ToNBIEd &1 FYNT woBwed SBEZob

SN,

L4 4 X
WOBRTY Twee PlrexII odeezs 11 cdreess 1T
S8883 OBV 1 doced 50,00,000 = 40,00,000
Se. 10 B w© =g, - 50,00,000 30,00,000
Ze. 12 8 mwOF WO - - 30,00,000

LOWeVT wees, BOAR IRTe nYd ©T8: J¢. 25. z.,&:.-@p 2ORT0 Be. 31.2
ST8 VI CInemSodTy, soFIPA. cogood 301 o8 : B¢, 20.55

200BDOYE NeOT NYs Je. 35 85T &I wsa%rsﬁfm?
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Q4) a) State the features of GS.T. Act 2017.

b) From the following transactions of Mr. Anil of Mysore, Compute
aggregate turnover under GST Act 2017

&

@)

a)
b)
c)
d)
e)

f)

g
h)

1)
»

4
Sale of goods to Kumar of Mandya 5,00,000
Sale of goods to Manu of Mumbai 2,00,000
Sale of goods to Zenith company at Bangalore 1,50,000

Goods received from unregistered dealer of Bangalore 10,000
Goods supplied to a job worker in Mysore and returned

after its completion 1,50,000
Supply of services at zero rate 4,00,000
Export to USA 5,00,000
Transfer of goods from Mandya branch to Bangalore branch

[No Separate Registration] 5,00,000
Inter-state stock transfer to another branch 1,000,000
The amount of CGST, SGST & IGST paid 50,000

2017 © B.07°.8 OO VFRNTIR, S9A.
3 R FyReT BNV FUNT TPEWOT B0 FcWd 2017
SR0RY XeNn, IP0WTI, SFT8.

4
@) mocéécﬁ HBR00 OIOR ROB W0 5,00,000
w) [eYF B A FTD TRTE | 2,00,000
%) 230NYe0s BAT FoTAN XTB [0 1,50,000
8) SReOTRONIT TIWOWOT TRW JTWNE 10,000
Q) BRE0S we® BUARTIR ITBRATEY, 16N
BROFRROTON LOSTONATR, 1,50,000
a@*)&méﬁéddd ﬁeaﬁﬁ@'aﬂoﬁl zudﬂhd%} 400,000
) OM.F.D R OFN 5,00,000
Q2 )TN0, TAWOT BOTEHRDT Dot XO® T
(B8 Jeeottd a) 5,00,000
©) ©oIoTY, TSt KT T 1,00,000
%) CGST, SGST & IGST &8 50,000
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Answer any two questions. Each question carries 10 marks. [2x10=20]
CIRPYTRETR 0D IFACR w30, TS TER 10 LOBNRW,

Q5) What is Corporate Tax Planning? State the objectives of tax planning.
FJFBEF 30N AdRexd Houded? 3oR cdrendod e eBNYI), 301,

(6} Mention the advantages of GST.
RO sHH) Aeew IOR0DL LWIRLORATR, S9A.

©7) Honda company requires 50,000 units of a component every year for next
5.years. The component can either be manufactured by the company or brought
from the market.

From the information given below, suggest the company whether it should
make the component or buy it from the market.

a) Cost of Materials ¥3,50,000
b) Direct Labour Cost 34,50,000
¢) Variable overhead ¥1,50,000

d) If the company manufactures the component, it requires purchasing a
machine. It borrows loan from bank, The present value of cash out flow
for 5 years would be X2,50,000. https://www.uomonline.com

¢) The component is available in the market @ Y15 per unit.
What will be the decision if the market price of the wd:nrmpu:m‘loz:nt is T25 per unit?

TBRCOTD FOTAN W IRF R 5 ITERLR 50,000 LT ok 23033, A,
gomRohe YWTDORWIDI WD FDEIN0T  S0eOHTWIBTRNT. 39805
BovbedoWOT T PPNIT, DOeDREeEe LFTo m@&ﬁaﬁe@ RO FOT
QB

X) ﬁzs'% TRPFE a”z;?’d 0v.3,50,000
Q) JeT FWFT [P 80.4,50,000
%) WBOoE F% 80.1,50,000
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8) BoTIODE WIVTI BRATT, 0HOFTY, LODRBeIT. YTTYN LOB
WO IBODOHIL. ABOCTRME 5 BT w0 I VeI
BONT TR IP0F 2.50,000 3T

Q) TF LnT FemIEoD Boh T3 FLTE T 15 &NE.
Sechded HSodn T 25 I Pug BuB gFT THIB?

Q8) Compute Taxable Turnover and GST payable for the following supplies

Supplies Rate X
a) Unpacked food grains Zero 80,000
b) Cashew nuts 5% 70,000
c¢) Tooth paste 18% 20,000
d) Services of Foreman of chitfund 12% 25,000
e) Agarabatti (Inter-state) 5% 10,000
f)  Sanitary pads (Inter-state) - 20,000
g) Soap (Inter-state) 18% 50,000

83 39N XCWTOINYOT ORR wPTEHW s:imr%& DR ToR-Aeem 30nRob,
38 oI
%

23T a3d Z
Q) BeL BT 8T0 FoINRW 3R, 80,000
D) RREOR 5% _ 70,000
X)W BeR) 18% 20,000
8) F JOoE VRO e 12% 25,000
R) ©nd wd (YosT T 5% 10,000
DT )IFDFY, T (033 oezs) - 20,000
g) TWRD (VOIT To%) 18% 50,000
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PART - C
R = 2

Answer any four questions. Each carries 5 marks. {4 x5 =20}

cimRYTITAe Foey, BIAYR wIdK. B2 TJR 5 wosnw.

09) State the differences between Tax Avoidance and Tax evasion.

BOrIoNOT SLABRWFTD @one 301 [ouINY IBLT FIINE), S92

(Q10)What are the limitations of Tax planning,.
30R cleedod anvmy, 89k

Q11)State the differences between Composite supply and Mixed supply.
TCCINY ATWTOED ST 0T, FCWTREING JBAT [TINGT, 394,

Q12)Define "Person’ under GST Act 2017.
DX 5005 2017 O THeT W' oDy, [N

Q@I3)krom the following information, compute the present value of Net Cash
outflow : -

a) Lease Rent paid 330,000 p.a.

b) Effective Rate of Tax @ 31.2%

¢) PV factors @ 12% p.a. for 5 years
Year 1. 2 3 4 5
PV. factor  0.893 0.797  0.712 0.636  0.567
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g 398073 [ekdoNOT JFY INTH BT VOIS TR IPOID, ST
@) ™R DB TRSAT), o&FF 30,000
») TomIREd 308 B3 @ 31.2%
) 36 12 8 TOWD 5 SIENY TIT 3396365 LH0BR.

- 1 2 3 4 5

SRy Py 0893 0797 0712 0636 0567

&l

Q14)Compute Aggregate Tumover for the following under GST Act.

Goods 2
a) Mobiles 10,000
b) Hairoil 4,000
c) Foot wear 4,500
d) Umbrella 12,000
e) Pearls 1,50,000
f) Diamonds 4,00,000

(Non-industrial)
Bt SENSIYNOR 2.7 8. WOHODR 2.8 SRS, €3 8.

o] 3] k4
Q) [ 10,000
») %38 3o 4,000
R) TRWBE 4,500
}) 3 12,000
Q) WOBNA 1,50,000
P B, (idnaaiwcf) 4,00,000
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